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QUESTION 1
Consider the following pseudo code:

1 Begin 2 Read Time 3 If Time 12 Then 7 Print(Time -12, "pm") 8 Endif 9 If Time = 12 Then 10 Print (Time, "noon") 11
Endif 12 End

How many test cases are needed to achieve 100 per cent decision coverage?
Al
B. 2
C.3
D.4

Correct Answer: C

QUESTION 2

Which of the following is a benefit of independent testing?

A. Code cannot be released into production until independent testing is complete.
B. Testing is isolated from development.

C. Independent testers find different defects and are unbiased.

D. Developers do not have to take as much responsibility for quality.

Correct Answer: C

QUESTION 3

For which of the following activities is a static analysis tool NOT useful?
A. Detecting dependencies in software modules

B. Quantitative analysis related to the tests (e.g. tests passed)

C. Enforcement of coding standards

D. Calculation of complexity of the code

Correct Answer: B

QUESTION 4
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Which of the following statements is NOT correct?

A. Functional tests consider the external behavior of the software.
B. Functional tests may be performed at all test levels.

C. Non-functional tests may be performed at all test levels.

D. Non-functional tests test the interoperability with other systems.

Correct Answer: A

QUESTION 5

A system is designed to accept values of examination marks as follows:

Fail: 039 inclusive Pass: 4059 inclusive Merit: 6079 inclusive Distinction: 80100 inclusive
In which of the following sets of values are all values in different equivalence partitions?
A. 25, 40, 60, 75

B. 0, 45, 79, 87

C. 35, 40, 59, 69

D. 25, 39, 60, 81

Correct Answer: B
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